Geometry Bellwork Friday, December 6, 2013

For 1 and 2, Each diagram shows two congruent triangles. Fill in the blanks and give a
reason for each statement then write a congruence statement for each pair of triangles.
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WE is a _L bisector of BK & /. K=/B
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Given: AIJWC= AEKG m/W=62° m/_E =70°
The perimeter of AEKG = 33
KG =13 JC =11

Find the measure of the remaining angles and the lengths of the
remaining sides of the two triangles.

m= m/C =
m/ K= m/ G =
JW = wC =
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DC I MQ CQ and DM bisect each other.

L MDC = / DMQ Reason:
LDCQ =~ LMQC Reason:
L_ _;L Reason:
DC = MQ Reason:
m = m Reason:
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